Efficiency vs dr

o 0.0

<
9.009

.......

o ‘G: L =+ II|
= E —=— DQM_original_step2_ttbar-phasel-newgeom
&U 2F | —— DQM_pixelCPE_step2_ttbar-phasel-newgeom

—— DQM

ixelC

PENoMatR_:

0.5

step2_ttbar-phasel-newgeom

1072

107

[ Efficiency vs dr (track,je

t) |

/il

1
TP min AR

.§0.01
d0.009
£
Q.OOS
9.007
>
®.006
Q
359.005
)
0.004
0.003
0.002
0.001
10

Ratio

1.

1

i
(@)
w

Efficiency vs pu
5 0.0

1072

-1

1
AR(TP, jét)

o
©.009
.008

(]
‘©.007

=
®.006
0.005
0.004
0.003
0.002
0.001

0

Ratio

2
15

N
(=]

Pileup



	Contents
	Page 1


